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(fl) 1; A = (1, 3, 51, B = {2,4}

Ax.B  = ((1,  2), ~(1, 4). (3, 2), (3, 4), (5, 2), (5, 4))

BxA = ((2,  1).  (2, 3, (2, 5), (4, I), (4, 3). (4, 5))

(?I)  I?! A = (1, 2, 3, 4}, B = {4, 5)

Ax  B = {Cl,  4), (1, 5), (2, 4), (2, 5), (3, 4), (3, 9, (4, 4), (4. 5))

B x A = ((4,  l), (4, 2). (4, 3), (4, 4), (5, I), (5, 2), (5, 3), (5. 4))

(Fl)  149 A = {m, 0). B  = (1,  2, 3)

Ax  B  = (ia>  11, (0, 2), (0, 3), (B>  1h (I%  2h (By  3))

Ax  A = ((0,  4, (a. /% (b’,  4 (B, B))

BxB = {Cl,  l), (1, 2), (1, 3), (2, l), (2, 2), (2, 3), (3, 11, (3. 2). (3. 3))

(9) %+I, A = +, B = (1, 2, 3)

A>:B  = +xB = +

Br:A  = Bx+ =r +

(9) %9;4” N = {I, 2, 3, 4, 5 ,... }, T = (2)

NxT = ((1,  2), (2, 2), (3, 2), (4, 2), (5, 2),...1

TX N = {(2, I), (2, 2), (2, 3), (2, 4), (2, 5),...1
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n"Oh5  %ol' A = {1,2, 3,4)

AxA  = ((1, 11,  (1, 2), (1, 3),...}

hW&W.Jl%~~Pd AxABdPb  16

fililap4" R dunaiaJlaiTu$+  "pa"0er~a'1"

. Rc AxA  = ((1, 2), (1, 3),  (1, 4), (2, 3), (2, 4), (3, 4)). .

(1,Z)E R WJlEJWdl%.I-h  1 ~~nn-dlZP~:a~uPr~~~~~~dl  lR2

(4,l)BR%%m.l~alsJa’l  ~l~~~sna'llo~:b~erps~~~~~s~lqbl
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cF-&lJ  10 1I.Y A = (1, 2, 3},  B = {2, 3, 4)

Rc AxB = {(l,V,  (1,3),  (1,4),  (2,3),  G4h (394))

‘id4 D(R) = {l, 2, 3) = A

R(R) = {2, 3,4} = B
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1 . %$A = (1, 2 , 3 , 4 , 5 , 6 , 7 , 8)

1; RC AxA& R = {(3,  I), (4, 2),  (5, 3), (6, 4),  (7, 5),  (8, 6))

OWildl  R ~aaP~:a~unalu~~w~~l~~~~ ?

2. 9lfl~~ (1)99Mlb%IWll09  R-’  L&"aoW~la'l R-’  ~a4o~:bOu~a181~81~~~~1~~~~?

3. %i?S = {1,2,3,4,5}  %~R~S~S~~~~P~W&IU

R = {Cl,  11, (2, 11, (3, l), (4, 11, (5, l), (2, 2),  (3, 2),  (4, 2),  (5, 2),  (3, 31,  (4,3),
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Y
7 . %A  = {l,  2, 3, 4, 5, 6, 7, 8,  9, 10) ~~~l~slal-dl~T~=%~~U”pdB R G~O~~~+BAWU%

vo9niabil~n~wP9~ol~~i91Sd~  cwnnaviguwSaiau

(n) R = {Cl,  41,  (3,  X), (4,  91,  (8,  1% (8,  2),  (9,  4~  (3,  2),  (2,  1% (3,  1% (1,  9~  (4,  4))

(u) R = ((2, 3, (1%  7),  (7,  6), (3,  9, (6,  4), (10,  4), (2,  8).  (1%  6), (5,  3),  (5.  81,

(2,  3),  (7.  4))

(n)  R = ((7, I), (1%  2)s  (1,  3),  (2,  9), (10,  X),  (1%  91,  (9,  8),  (8,  51,  (7.  3),  (9,  5))

(4) R = ((7, 7). (8.  6), (2,  3),  (1%  61,  (7,  3L  (6,  6), (7,  2)}

(2) R = ((3, 3))

(a) R = ((8, 2L  (5,  1)s  (2,  9),  (8,  l), (9,  51,  (2,  I), (2,  5),  (9,  1L  (8,  51,  (8,  9))

(-if)  R = ((5, 4)>  (7,  10).  (3,  51,  (5,  7h  (4.  1%  (3,  7h  (5,  1%  (4,  7), (3,  4h  (3.  10))

(q) R = ((9, 9h  (3,  3L  (6.  2), CL  9),  (6,  3),  (1,  61,  (1,  2), (1,  9), (9.  4), (8,  I), (2,  4),

(1,  41,  (8,  6),  (8,  2).  (8,  4))

(a)  R = {(lo> I), (7,  I), (4,  I), (1,  3),  (1,  71,  (7,  101,  (4,  3h  (7,  31,  (10,  7), (1%  3),

(4 7), (4,  10))

(Q) R = ((1. XL  (6,  4L  (3.  9):  (2,  lo), (7,  5))

a~pnlsPln 0” (adu 4, -4 aOu&A)
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(71) 25 = 17 (mod 8 ) (f) 3 3 = 1 0 (mod 8 )

(“II) 2 0 = 2 8 (mod 8 ) (g) 8 3 = 5 9 (mod 8 )

(+l) 3 6 = 1 9 (mod 8 ) (h) 7 1 = 4 7 (mod 8 )

(9) 3 4 = 1 8 (mod 8 ) (i) 6 2 = 7 7 (mod 8 )

(8) 4 0 s 3 2 ( m o d 8 ) (j) 9 6 = 8 9 (mod 8 )
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tiaunaizxT&i4$  r,  s dnlPli~dbflufls~~u

r = ((1, 2), (3, 3))

s = ((1,  2),  (2, 3),  (3, 4),  (1,  5))
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f = ((1, #), (2,  *), (3,  *)I

h(0) = 3(0)*-5(o)+  2  =  2

h(lO) = 3(10)*-5(10)+2  = 252

h = {(x,  y)~x  E R bbfit  y = 3x2-5x+2}
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&Oeil~ 27 %;f Ld’Mh+i?Ad~~7MU~~@~  f(x) = 5x+2 9

f ( 3 )  = 5(3)+2  =  1 7

f ( 1 )  =  5(1)+2  =  7

. f(3)-f(1) = 1 7 - 7 = 1 0

WdhGl

9 f(3) - f(1)

1 .

6 .
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Y

c

0
R (0, Y) . P(x,  Y)

0 Qk  0) ’
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d  2 . 4
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I + +

II - +

III - -

IV +

VihiN2t  W-JW+dd!i  A ( l ,  3), B(-;,  4), C ( - 3 ,  - 2 )

NI, 3)

cc-3,  -2)
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Pk.&;131  19s" f ih'hii%Udsii7WPfl~~U  f(x) = x2-2x-3 59991Fi1  f(O), f(- l),

f(-2), f(2), f(3), f(t)  LbRE  f(f(x))  kwmmlSl~Y09  f 8l?AJdaull~sb~jlbUU  -2 < x < 3

f(0) = O*-2(O)-3  = -3

f ( - 1 )  =  (-l)*-2(-I)-3  =  0

f ( - 2 )  =  (-2)*-2(-2)-3  =  5

f(2) = (2)*-2(2)-3  = -3

f ( 3 )  =  3’-2(3)-3 = 0

f(t) = tZ-  2(t)  - 3 = t2-2t-3

f(f(x)) = (f(x))Z- 2(f(x)) - 3

= (~~-22~-3)~-22(~~-2~-3)-3

4
Y

\

T-j---

$7 2.8
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I%? x*y = x ;

rTil.4 3*7 = 3 bb61: I+3 = 7 aOPa6u

LLK 6*5 = 6 dau 5*6 = 5

22*1 = 22 k-m 1*22 = 1

3*8 = 8
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(8+  12).(3+  12 )  =  (20)(15)  = 300
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(u) 1*3
4

i
I

T
t
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* P 9 r s
----_  -

P s r P 9

q q S r

r r s

s P

PYnluamM767e;o~da

(n) dee

(U) doe

(n) eec

(9)  eOc

(8) (dee)  CT+  c

(a) e f3 (c@C)

(lf)  (tee)  8 (e@d)

(%a) e 0 (dOc)

(611)  (eoe)  0 d

(EIJ)  (eoc) (cod)

(4) dW@e)

(a)  eW@d)

(ii)  cO(dbd)

(?I)  eO(e@e)

(m)  (ted)  0 d

(sla) (c@e)  d (cod)

(fl) (eoe)  @  (eoc)

(‘3)  (dec) 0 (dad)

(a) (COC)  d (COC)

(II)  (e@e) d (cod)
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